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Testl 1:
clear;
A = [23 54 67 3 16 84 2 98 10];
len = length(A);
for i = 1:len
for j = 1:len - i

it (Ag) = Ag + 1))

temp = AQQ);
A =AQ + 1);
A(g + 1) = temp;
end
end
end
A
Testl 2:
clear;

A = input(“Please enter an array: ")
R = sort(A, “descend®)

a = max(A)

id = find(A == a)



Testl 3:
clear;
A = rand(4, 5)
a = max(max(A))
[1.j] = find(A == a)

Testl 4:
clear;
temp = O;
for i = 1:20
temp = temp + factorial(i);
end
temp

Testl 5:

B4 Fom
function f = f(x, y)
f = X2 + sin(x.*y) + 2*y;
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>> Testl 1
A=

>> Testl 2
Please enter an array: [10 6 8 46 12 3 56 8 7]

A=

10 6 8 46 12 3 56
R =

56 46 12 10 8 8 7
a=

56

54

67

98



>> Testl 3
A=

0.8147 0.6324 0.9575 0.9572 0.4218
0.9058 0.0975 0.9649 0.4854 0.9157

0.1270 0.2785 0.1576 0.8003 0.7922
0.9134 0.5469 0.9706 0.1419 0.9595

0.9706

>> Testl 4
temp =

2.5613e+18
>>1(2,3)
ans =

9.7206
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Test2_1: 4
clear;
t = linspace(0,2*pi,50);
yl = sin(2*t-0.3);
y2 = 3*cos(t+0.5);
plot(t,yl, r-%e",t,y2, "b--*")
text(1.5,0./8, "yl = sin(2*t-0.3)")
text(3.5,-2.5,%y2 = 3*cos(t+0.5)")

Test2_2:
clear;
X =[0:3];
yl = 2*x+5;
y2 = X.N2-3*x+1;
subplot(2,1,1);
plot(x,yl);
axis([0,3,0,12]);
title(Tyl=2x+5");
subplot(2,1,2)
plot(x,y2);
axis([0,3,-2,1.5]);
title(Ty2=x"2-3x+1");
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JEIX I, (75, 200) * (-50, 150) FHFRI0H0 LG 7 fs S 30 i3k N .

x [129 140 103.5 88 1855 195 105
y |7.5 1415 23 147 225 137.5 855
z |4 8 6 8 6 8 8
x |157.5 107.5 77 81 162 162 117.5
y |-6.5 -81 3 56.5 -66.5 84 -33.5
z |9 9 8 8 9 4 9
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clear;
X = [129 140 103.5 88 185.5 195 105 157.5 107.5 77 81 162 162 117.5];
y=[7.5141.523 147 22.5137.585.5-6.5-81356.5-66.5 84 -33.5];
z=][-4-8-6 -8-6-8-8-9-9-8-8-9-4-9];

%4
cX = 75:0.5:200;

cy = -70:0.5:150;
cz=griddata(x,y,z,cx,cy", “cubic”);



Yofif 2 18 &
meshz(cx, cy, cz),rotate3d

xlabel (" X"),ylabel("Y"),zlabel("Z")

figure(2),contour(cx,cy,cz,[-5,-5]);grid

hold on

plot(x,y,"*")

for i = 1:length(X)

text(x(i)+0.2,y(i)+0.2,[num2str(x(i)), "

T.num2str(y(i))1):

end

hold off

xlabel (" X"),ylabel("Y")
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X

y
z

1:0.5:10;
X .A3-6*x."2+5*x-3; (¥
y+rand;

A3 = polyfit(x,z,3)

y3 = polyval (A3,X);
plot(x,y, "+",Xz5y3);
grid on

xlabel ("X"),ylabel("Y")
title(" L UEHIZ ") ;

figure(2);

A2 = polyfit(x,z,2)

y2 ="polyval (A2,X);
plot(x,y, "+",X,y2);
grid on

xlabel ("X"),ylabel("Y")
title(C" AUGHIZE™);

figure(3d);
A4 polyfit(x,z,4)
va polyval (A4,x);



plot(x,y, " +",x,y4)
grid on

xlabel (°X"),ylabel("Y")
titleC U SHIZE ™) ;
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>> Testd
A3 =

1.0000 -6.0000 5.0000

A2 =

10.5000 -72.3000 90.2147

Ad =
0.0000 1.0000 -6.0000
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